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1 Product Level Regressions

Table 1: Bread and Cereals

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.037*** -0.038*** -0.018*** -0.020*** -0.018*** -0.014*** -0.017*** -0.381

(0.004) (0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.252)

Log(Distance) 0.022*** 0.015*** 0.015*** 0.014*** 0.008*** 0.011*** 0.103

(0.005) (0.004) (0.004) (0.004) (0.003) (0.003) (0.214)

Common Border 0.025*** 0.020** 0.022** 0.021** 0.004 0.012 -0.171

(0.009) (0.008) (0.009) (0.009) (0.006) (0.007) (0.495)

Common Language -0.007 -0.012 -0.011 -0.012 -0.001 -0.008 0.712*

(0.008) (0.008) (0.008) (0.008) (0.006) (0.008) (0.412)

Island 0.025*** 0.023*** 0.018*** 0.018*** 0.013*** 0.014*** 0.312

(0.006) (0.006) (0.005) (0.005) (0.004) (0.004) (0.206)

Landlocked 0.005 0.001 -0.001 -0.002 -0.001 -0.003 -0.408

(0.005) (0.005) (0.005) (0.005) (0.003) (0.004) (0.367)

Var(Exch. Rate) 0.155*** 0.156*** 0.138*** 0.127*** 0.127*** 2.291*

(0.023) (0.023) (0.024) (0.022) (0.021) (1.340)

Log(Expenditures) -0.003*** -0.003*** -0.000 -0.002 0.023

(0.001) (0.001) (0.001) (0.001) (0.049)

European Union -0.011* -0.007 -0.007 0.520

(0.007) (0.005) (0.006) (0.609)

R2 0.09 0.20 0.31 0.32 0.32 0.33 0.30 0.03

# Observations 496 496 496 496 496 487 487 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 2: Meat

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.019*** -0.020*** -0.004 -0.005 -0.004 -0.008** -0.005* -0.092

(0.004) (0.004) (0.003) (0.003) (0.003) (0.003) (0.003) (0.202)

Log(Distance) 0.015*** 0.009*** 0.009*** 0.009*** 0.006** 0.007** 0.611**

(0.004) (0.003) (0.003) (0.003) (0.002) (0.003) (0.290)

Common Border 0.013** 0.009 0.011* 0.010 0.005 0.006 0.448

(0.007) (0.007) (0.006) (0.006) (0.004) (0.005) (0.520)

Common Language -0.008 -0.012 -0.011 -0.012 -0.007* -0.010 0.057

(0.008) (0.008) (0.008) (0.008) (0.004) (0.007) (0.377)

Island 0.033*** 0.031*** 0.028*** 0.028*** 0.019*** 0.025*** 0.100

(0.004) (0.004) (0.004) (0.004) (0.005) (0.004) (0.180)

Landlocked 0.004 0.000 -0.001 -0.001 -0.004 -0.001 0.161

(0.004) (0.004) (0.004) (0.004) (0.004) (0.003) (0.241)

Var(Exch. Rate) 0.125*** 0.125*** 0.121*** 0.127*** 0.121*** 1.625

(0.017) (0.017) (0.017) (0.018) (0.017) (1.038)

Log(Expenditures) -0.002*** -0.002*** -0.002** -0.002** -0.003

(0.001) (0.001) (0.001) (0.001) (0.046)

European Union -0.003 0.001 0.002 0.857

(0.005) (0.004) (0.005) (0.525)

R2 0.04 0.22 0.33 0.34 0.34 0.34 0.32 0.03

# Observations 496 496 496 496 496 496 496 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 3: Fish

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.014*** -0.015*** -0.015*** -0.016*** -0.013*** -0.007** -0.009*** 0.120

(0.004) (0.003) (0.004) (0.004) (0.004) (0.003) (0.003) (0.257)

Log(Distance) 0.012*** 0.011*** 0.011*** 0.009*** 0.009*** 0.009*** 0.283

(0.003) (0.003) (0.003) (0.003) (0.003) (0.003) (0.210)

Common Border 0.013** 0.013** 0.015** 0.013** 0.011** 0.015*** 0.633

(0.006) (0.006) (0.006) (0.006) (0.006) (0.006) (0.406)

Common Language -0.005 -0.005 -0.004 -0.006 -0.000 -0.010 -0.061

(0.009) (0.009) (0.009) (0.008) (0.007) (0.007) (0.422)

Island 0.031*** 0.031*** 0.026*** 0.026*** 0.015*** 0.020*** 0.012

(0.005) (0.005) (0.005) (0.005) (0.004) (0.004) (0.230)

Landlocked -0.005 -0.005 -0.007* -0.008** -0.006* -0.008** 0.110

(0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.220)

Var(Exch. Rate) 0.002 0.002 -0.026* 0.022 0.002 -2.820***

(0.013) (0.013) (0.014) (0.016) (0.014) (0.829)

Log(Expenditures) -0.003*** -0.003*** -0.002*** -0.002*** -0.011

(0.001) (0.001) (0.001) (0.001) (0.048)

European Union -0.018*** -0.022*** -0.018*** -0.552**

(0.005) (0.004) (0.005) (0.233)

R2 0.02 0.21 0.21 0.23 0.25 0.23 0.23 0.03

# Observations 496 496 496 496 496 482 482 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 4: Dairy Products

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.041*** -0.042*** -0.020*** -0.022*** -0.017*** -0.010*** -0.015*** -0.187

(0.004) (0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.224)

Log(Distance) 0.026*** 0.018*** 0.017*** 0.014*** 0.009*** 0.012*** 0.171

(0.005) (0.004) (0.004) (0.004) (0.003) (0.003) (0.271)

Common Border 0.029*** 0.024*** 0.027*** 0.024*** 0.011* 0.019*** 0.650*

(0.009) (0.007) (0.007) (0.007) (0.006) (0.007) (0.354)

Common Language -0.004 -0.009 -0.008 -0.012* -0.006 -0.009 0.129

(0.008) (0.007) (0.008) (0.007) (0.005) (0.006) (0.335)

Island 0.027*** 0.024*** 0.017*** 0.017*** 0.006* 0.011*** -0.441

(0.006) (0.006) (0.005) (0.005) (0.004) (0.004) (0.376)

Landlocked 0.007 0.003 -0.000 -0.001 0.002 -0.001 -0.529

(0.005) (0.005) (0.005) (0.005) (0.003) (0.004) (0.339)

Var(Exch. Rate) 0.171*** 0.172*** 0.127*** 0.133*** 0.123*** -0.292

(0.020) (0.019) (0.021) (0.018) (0.019) (1.508)

Log(Expenditures) -0.005*** -0.005*** -0.002** -0.003*** -0.005

(0.001) (0.001) (0.001) (0.001) (0.050)

European Union -0.029*** -0.024*** -0.025*** 0.061

(0.007) (0.007) (0.007) (0.636)

R2 0.11 0.23 0.36 0.38 0.41 0.37 0.37 0.02

# Observations 496 496 496 496 496 493 493 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 5: Oils and fats

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.025*** -0.028*** -0.007 -0.007 -0.003 -0.011** -0.008 0.263

(0.006) (0.006) (0.006) (0.006) (0.006) (0.005) (0.005) (0.219)

Log(Distance) 0.041*** 0.034*** 0.033*** 0.031*** 0.019*** 0.026*** 0.349*

(0.006) (0.005) (0.005) (0.005) (0.004) (0.004) (0.194)

Common Border 0.041*** 0.036*** 0.037*** 0.035*** 0.022** 0.031*** 0.844

(0.011) (0.011) (0.011) (0.011) (0.009) (0.010) (0.519)

Common Language -0.008 -0.013 -0.013 -0.016* -0.004 -0.012 -0.561

(0.010) (0.009) (0.009) (0.008) (0.007) (0.008) (0.672)

Island 0.020*** 0.018** 0.016** 0.016** 0.009 0.013** -0.033

(0.008) (0.007) (0.007) (0.007) (0.006) (0.006) (0.216)

Landlocked -0.004 -0.009 -0.009 -0.010* -0.016*** -0.014*** -0.253

(0.006) (0.006) (0.006) (0.006) (0.005) (0.005) (0.234)

Var(Exch. Rate) 0.169*** 0.169*** 0.135*** 0.111*** 0.128*** 3.140***

(0.025) (0.025) (0.028) (0.029) (0.025) (0.806)

Log(Expenditures) -0.001 -0.001 -0.001 -0.001 -0.033

(0.002) (0.002) (0.001) (0.001) (0.050)

European Union -0.022*** -0.020*** -0.020*** 0.431

(0.008) (0.007) (0.008) (0.334)

R2 0.03 0.19 0.27 0.27 0.28 0.29 0.29 0.04

# Observations 496 496 496 496 496 488 488 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.08. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 6: Fruit

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.009** -0.011** -0.007 -0.008* -0.006 -0.006 -0.006 -0.525**

(0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.266)

Log(Distance) 0.015*** 0.013*** 0.013*** 0.012*** 0.013*** 0.013*** 0.381

(0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.238)

Common Border 0.023*** 0.022*** 0.024*** 0.023*** 0.019** 0.022*** 0.826

(0.007) (0.007) (0.007) (0.007) (0.008) (0.007) (0.611)

Common Language 0.002 0.001 0.002 0.000 0.004 0.003 -0.013

(0.008) (0.008) (0.008) (0.008) (0.009) (0.008) (0.630)

Island 0.029*** 0.029*** 0.025*** 0.025*** 0.020*** 0.022*** 0.885***

(0.005) (0.005) (0.005) (0.005) (0.004) (0.005) (0.240)

Landlocked 0.004 0.003 0.002 0.002 0.002 0.002 -0.237

(0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.278)

Var(Exch. Rate) 0.029* 0.030* 0.014 0.028* 0.021 3.018***

(0.017) (0.017) (0.017) (0.016) (0.017) (1.141)

Log(Expenditures) -0.002** -0.002** -0.001 -0.002* -0.012

(0.001) (0.001) (0.001) (0.001) (0.049)

European Union -0.010* -0.001 -0.005 1.505***

(0.006) (0.005) (0.005) (0.527)

R2 0.01 0.14 0.14 0.15 0.16 0.13 0.13 0.07

# Observations 496 496 496 496 496 490 490 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS.

(6) FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij

is the linear trend coefficient on the threshold.
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Table 7: Vegetables

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.024*** -0.024*** -0.017*** -0.017*** -0.018*** -0.013*** -0.015*** -0.486*

(0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.295)

Log(Distance) 0.008** 0.005 0.005 0.006 0.008*** 0.007** -0.501**

(0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.204)

Common Border -0.003 -0.005 -0.005 -0.005 -0.000 -0.002 -0.078

(0.008) (0.007) (0.007) (0.007) (0.006) (0.007) (0.444)

Common Language -0.006 -0.008 -0.008 -0.007 -0.004 -0.006 -0.541

(0.009) (0.008) (0.008) (0.008) (0.006) (0.007) (0.627)

Island 0.007 0.006 0.006 0.006 0.003 0.003 0.877***

(0.005) (0.005) (0.005) (0.005) (0.004) (0.005) (0.247)

Landlocked 0.000 -0.001 -0.001 -0.001 -0.000 -0.000 0.049

(0.004) (0.004) (0.004) (0.005) (0.004) (0.004) (0.242)

Var(Exch. Rate) 0.059*** 0.059*** 0.071*** 0.098*** 0.085*** -2.072*

(0.018) (0.018) (0.020) (0.022) (0.022) (1.116)

Log(Expenditures) 0.000 0.000 0.000 0.000 0.163***

(0.001) (0.001) (0.001) (0.001) (0.058)

European Union 0.007 0.007 0.008 -0.734**

(0.006) (0.006) (0.006) (0.373)

R2 0.06 0.09 0.12 0.12 0.12 0.15 0.13 0.05

# Observations 496 496 496 496 496 492 492 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 8: Sugar

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.025*** -0.027*** -0.011** -0.013*** -0.012** -0.008** -0.010** 0.511***

(0.004) (0.005) (0.005) (0.005) (0.005) (0.004) (0.005) (0.178)

Log(Distance) 0.013** 0.007 0.006 0.006 0.005 0.006 0.177

(0.005) (0.005) (0.005) (0.005) (0.003) (0.004) (0.174)

Common Border 0.017 0.013 0.015 0.015 0.007 0.013 0.050

(0.010) (0.010) (0.010) (0.010) (0.006) (0.008) (0.440)

Common Language -0.010 -0.013 -0.012 -0.013 -0.007 -0.014* 0.533*

(0.010) (0.009) (0.009) (0.009) (0.006) (0.008) (0.293)

Island 0.028*** 0.026*** 0.019*** 0.019*** 0.021*** 0.018*** -0.176

(0.005) (0.005) (0.005) (0.005) (0.005) (0.005) (0.228)

Landlocked -0.006 -0.009* -0.012** -0.013** -0.007* -0.012*** -0.448**

(0.005) (0.005) (0.005) (0.005) (0.004) (0.004) (0.226)

Var(Exch. Rate) 0.122*** 0.123*** 0.112*** 0.151*** 0.127*** 0.948

(0.020) (0.019) (0.023) (0.020) (0.021) (1.048)

Log(Expenditures) -0.004*** -0.004*** -0.003*** -0.004*** -0.113**

(0.001) (0.001) (0.001) (0.001) (0.047)

European Union -0.007 -0.001 -0.002 0.082

(0.007) (0.006) (0.006) (0.397)

R2 0.05 0.15 0.22 0.24 0.24 0.33 0.26 0.04

# Observations 494 494 494 494 494 490 490 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 9: Food n.e.c.

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.029*** -0.029*** -0.018*** -0.018*** -0.015*** -0.012*** -0.015*** -0.004

(0.004) (0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.202)

Log(Distance) 0.014*** 0.010*** 0.010*** 0.007** 0.004 0.006** 0.252

(0.004) (0.003) (0.003) (0.003) (0.003) (0.003) (0.259)

Common Border 0.016** 0.013* 0.014* 0.012* 0.009 0.011 0.541*

(0.007) (0.007) (0.007) (0.007) (0.007) (0.007) (0.326)

Common Language 0.005 0.002 0.003 -0.000 -0.002 -0.001 0.153

(0.008) (0.008) (0.008) (0.007) (0.006) (0.006) (0.174)

Island 0.039*** 0.038*** 0.037*** 0.037*** 0.030*** 0.034*** 0.023

(0.005) (0.005) (0.005) (0.005) (0.004) (0.004) (0.193)

Landlocked 0.012*** 0.009** 0.009** 0.008** 0.006** 0.006* 0.040

(0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.142)

Var(Exch. Rate) 0.086*** 0.086*** 0.056*** 0.087*** 0.065*** 0.388

(0.018) (0.018) (0.019) (0.020) (0.019) (0.819)

Log(Expenditures) -0.001 -0.000 -0.000 -0.000 -0.018

(0.001) (0.001) (0.001) (0.001) (0.038)

European Union -0.020*** -0.018*** -0.018*** 0.036

(0.005) (0.005) (0.005) (0.156)

R2 0.08 0.28 0.33 0.33 0.35 0.38 0.35 0.01

# Observations 496 496 496 496 496 487 487 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 10: Coffe and tea

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.019*** -0.020*** 0.007 0.006 0.010** 0.004 0.008** 0.341

(0.004) (0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.253)

Log(Distance) 0.026*** 0.016*** 0.016*** 0.013*** 0.010*** 0.012*** -0.118

(0.005) (0.004) (0.004) (0.004) (0.003) (0.003) (0.182)

Common Border 0.014* 0.007 0.008 0.006 0.003 0.006 -0.648

(0.008) (0.007) (0.007) (0.007) (0.007) (0.007) (0.531)

Common Language 0.010 0.004 0.004 0.001 0.001 -0.000 0.313

(0.010) (0.007) (0.007) (0.007) (0.007) (0.007) (0.412)

Island 0.013** 0.010** 0.008* 0.009* 0.009** 0.008* -0.016

(0.006) (0.005) (0.005) (0.005) (0.004) (0.005) (0.212)

Landlocked 0.008* 0.003 0.002 0.001 0.000 0.001 -0.412*

(0.005) (0.004) (0.004) (0.004) (0.003) (0.004) (0.236)

Var(Exch. Rate) 0.212*** 0.212*** 0.180*** 0.189*** 0.179*** 2.688***

(0.019) (0.018) (0.021) (0.019) (0.020) (0.766)

Log(Expenditures) -0.001 -0.001 -0.001 -0.001 -0.011

(0.001) (0.001) (0.001) (0.001) (0.053)

European Union -0.021*** -0.013** -0.018*** 0.172

(0.006) (0.006) (0.006) (0.303)

R2 0.03 0.13 0.37 0.37 0.38 0.37 0.37 0.03

# Observations 496 496 496 496 496 495 495 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 11: Soft drinks

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.031*** -0.033*** -0.019*** -0.019*** -0.016*** -0.016*** -0.016*** -0.055

(0.004) (0.004) (0.005) (0.005) (0.005) (0.004) (0.004) (0.288)

Log(Distance) 0.020*** 0.015*** 0.014*** 0.013*** 0.013*** 0.011*** 0.598

(0.005) (0.004) (0.004) (0.004) (0.004) (0.004) (0.393)

Common Border 0.023*** 0.020** 0.021** 0.019** 0.019*** 0.019** 1.116*

(0.008) (0.008) (0.008) (0.008) (0.007) (0.007) (0.615)

Common Language -0.007 -0.010 -0.010 -0.012 -0.005 -0.010 -0.329

(0.009) (0.009) (0.009) (0.010) (0.007) (0.009) (0.554)

Island 0.044*** 0.042*** 0.040*** 0.040*** 0.036*** 0.036*** -0.018

(0.006) (0.006) (0.006) (0.006) (0.006) (0.006) (0.259)

Landlocked -0.000 -0.003 -0.004 -0.005 -0.004 -0.007 -0.490*

(0.005) (0.005) (0.005) (0.005) (0.004) (0.004) (0.270)

Var(Exch. Rate) 0.111*** 0.111*** 0.086*** 0.064*** 0.078*** 0.636

(0.022) (0.021) (0.022) (0.022) (0.022) (0.986)

Log(Expenditures) -0.002* -0.002 -0.001 -0.002* 0.050

(0.001) (0.001) (0.001) (0.001) (0.058)

European Union -0.016** -0.018*** -0.017*** -0.029

(0.006) (0.005) (0.006) (0.320)

R2 0.07 0.27 0.32 0.33 0.34 0.36 0.33 0.04

# Observations 496 496 496 496 496 487 487 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 12: Spirits

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.023*** -0.025*** -0.014** -0.017*** -0.015** -0.017** -0.016** -0.502*

(0.006) (0.006) (0.006) (0.006) (0.007) (0.008) (0.007) (0.259)

Log(Distance) 0.017*** 0.014** 0.013** 0.012** 0.007 0.009* -0.213

(0.006) (0.006) (0.005) (0.005) (0.006) (0.005) (0.149)

Common Border 0.017 0.014 0.018* 0.017 0.010 0.012 0.402

(0.011) (0.011) (0.010) (0.010) (0.009) (0.009) (0.263)

Common Language -0.020** -0.022** -0.021** -0.022** -0.008 -0.014 0.122

(0.010) (0.010) (0.010) (0.010) (0.009) (0.010) (0.248)

Island 0.027*** 0.026*** 0.017** 0.018** 0.014* 0.016** 0.067

(0.007) (0.007) (0.007) (0.007) (0.007) (0.007) (0.226)

Landlocked -0.011* -0.013** -0.017*** -0.017*** -0.018*** -0.018*** -0.065

(0.006) (0.006) (0.006) (0.006) (0.006) (0.006) (0.213)

Var(Exch. Rate) 0.084*** 0.084*** 0.070** 0.107*** 0.077*** -2.821***

(0.026) (0.025) (0.028) (0.031) (0.027) (0.993)

Log(Expenditures) -0.006*** -0.006*** -0.005*** -0.006*** -0.148***

(0.001) (0.001) (0.001) (0.001) (0.050)

European Union -0.009 -0.014** -0.012* -0.453**

(0.008) (0.007) (0.007) (0.184)

R2 0.03 0.13 0.15 0.18 0.18 0.23 0.20 0.04

# Observations 496 496 496 496 496 460 460 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.09. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 13: Wine

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.053*** -0.055*** -0.009** -0.008** -0.001 -0.003 -0.003 -0.213

(0.005) (0.005) (0.004) (0.004) (0.004) (0.003) (0.004) (0.228)

Log(Distance) 0.032*** 0.015*** 0.016*** 0.011*** 0.008*** 0.011*** 0.003

(0.005) (0.004) (0.004) (0.003) (0.003) (0.003) (0.151)

Common Border 0.023** 0.011 0.009 0.005 0.002 0.007 0.153

(0.010) (0.008) (0.008) (0.008) (0.006) (0.007) (0.295)

Common Language 0.016 0.006 0.005 -0.001 -0.003 0.002 0.008

(0.013) (0.011) (0.011) (0.011) (0.007) (0.010) (0.255)

Island 0.039*** 0.033*** 0.039*** 0.039*** 0.046*** 0.041*** 0.581***

(0.007) (0.005) (0.005) (0.005) (0.005) (0.005) (0.192)

Landlocked -0.002 -0.011** -0.008* -0.010** -0.003 -0.006 0.185

(0.006) (0.004) (0.004) (0.004) (0.003) (0.004) (0.194)

Var(Exch. Rate) 0.365*** 0.364*** 0.304*** 0.206*** 0.258*** 0.056

(0.023) (0.023) (0.024) (0.026) (0.026) (0.549)

Log(Expenditures) 0.004*** 0.004*** 0.001 0.003*** 0.064

(0.001) (0.001) (0.001) (0.001) (0.051)

European Union -0.039*** -0.035*** -0.038*** -0.524**

(0.006) (0.006) (0.006) (0.205)

R2 0.12 0.28 0.64 0.65 0.68 0.60 0.64 0.04

# Observations 496 496 496 496 496 461 461 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.08. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 14: Beer

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.038*** -0.039*** -0.031*** -0.033*** -0.029*** -0.018*** -0.027*** -0.026

(0.004) (0.004) (0.005) (0.005) (0.005) (0.005) (0.005) (0.203)

Log(Distance) 0.022*** 0.019*** 0.018*** 0.016*** 0.015*** 0.014*** 0.233

(0.005) (0.005) (0.005) (0.005) (0.004) (0.004) (0.186)

Common Border 0.029*** 0.027*** 0.029*** 0.027*** 0.024*** 0.025*** 0.636*

(0.009) (0.009) (0.009) (0.009) (0.007) (0.008) (0.360)

Common Language -0.003 -0.005 -0.004 -0.007 -0.004 -0.004 -0.147

(0.007) (0.008) (0.008) (0.008) (0.006) (0.007) (0.372)

Island 0.042*** 0.041*** 0.036*** 0.036*** 0.022*** 0.033*** 0.405**

(0.006) (0.006) (0.006) (0.006) (0.005) (0.005) (0.166)

Landlocked 0.016*** 0.015*** 0.012** 0.012** 0.003 0.007 -0.274

(0.005) (0.005) (0.005) (0.005) (0.005) (0.005) (0.222)

Var(Exch. Rate) 0.057** 0.057** 0.021 0.050** 0.019 -2.066***

(0.024) (0.023) (0.025) (0.024) (0.023) (0.765)

Log(Expenditures) -0.004*** -0.003*** -0.001 -0.002** -0.016

(0.001) (0.001) (0.001) (0.001) (0.033)

European Union -0.024*** -0.030*** -0.027*** -0.400

(0.007) (0.006) (0.007) (0.364)

R2 0.09 0.26 0.28 0.29 0.31 0.29 0.30 0.03

# Observations 494 494 494 494 494 479 479 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 15: Clothing Materials

(1) (2) (3) (4) (5) (6) (7) (8)

Euro 0.002 0.002 0.010* 0.010* 0.012** 0.003 0.006 0.178

(0.005) (0.005) (0.005) (0.005) (0.005) (0.005) (0.005) (0.280)

Log(Distance) 0.004 0.001 0.001 0.000 -0.006 -0.006 0.256

(0.005) (0.005) (0.005) (0.005) (0.004) (0.005) (0.269)

Common Border 0.014 0.012 0.012 0.011 0.006 0.002 -0.095

(0.011) (0.010) (0.010) (0.010) (0.009) (0.009) (0.564)

Common Language -0.004 -0.006 -0.007 -0.008 -0.020* -0.008 0.944**

(0.010) (0.010) (0.010) (0.010) (0.011) (0.010) (0.374)

Island 0.017** 0.015** 0.017** 0.016* 0.021** 0.026*** -0.187

(0.008) (0.008) (0.008) (0.008) (0.010) (0.008) (0.442)

Landlocked 0.014*** 0.013*** 0.014*** 0.014*** 0.010 0.016*** 0.258

(0.005) (0.005) (0.005) (0.005) (0.006) (0.005) (0.234)

Var(Exch. Rate) 0.058*** 0.057*** 0.045** 0.054*** 0.051*** 1.630

(0.019) (0.019) (0.019) (0.019) (0.018) (1.009)

Log(Expenditures) 0.001 0.001 0.002 0.001 0.074

(0.001) (0.001) (0.001) (0.001) (0.092)

European Union -0.008 -0.005 -0.004 0.341

(0.006) (0.006) (0.006) (0.473)

R2 0.00 0.05 0.07 0.07 0.08 0.10 0.12 0.02

# Observations 365 365 365 365 365 322 322 365

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5)

WLS. (6) FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij ,

where b
g
ij is the linear trend coefficient on the threshold.

Table 16: Garments

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.026*** -0.027*** -0.020*** -0.020*** -0.016*** -0.010*** -0.018*** -0.022

(0.004) (0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.278)

Log(Distance) 0.024*** 0.021*** 0.021*** 0.018*** 0.007** 0.008** 0.468*

(0.005) (0.005) (0.005) (0.005) (0.003) (0.003) (0.244)

Common Border 0.028*** 0.026*** 0.026*** 0.024*** 0.009 0.015* 0.306

(0.008) (0.008) (0.008) (0.008) (0.006) (0.008) (0.588)

Common Language -0.007 -0.008 -0.008 -0.012 -0.012 -0.019** 1.034**

(0.008) (0.007) (0.008) (0.008) (0.008) (0.009) (0.458)

Island 0.028*** 0.027*** 0.027*** 0.027*** 0.021*** 0.032*** 0.709***

(0.006) (0.006) (0.007) (0.007) (0.005) (0.006) (0.268)

Landlocked 0.004 0.003 0.003 0.002 -0.000 0.001 0.220

(0.005) (0.005) (0.004) (0.004) (0.003) (0.004) (0.246)

Var(Exch. Rate) 0.054*** 0.054*** 0.015 0.085*** 0.050** -3.260***

(0.020) (0.020) (0.023) (0.028) (0.023) (1.105)

Log(Expenditures) -0.000 -0.000 -0.001 -0.002 0.087

(0.001) (0.001) (0.001) (0.001) (0.056)

European Union -0.025*** -0.020** -0.026*** -1.135***

(0.008) (0.009) (0.007) (0.292)

R2 0.05 0.19 0.21 0.21 0.23 0.31 0.32 0.07

# Observations 496 496 496 496 496 395 395 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 17: Clothing n.e.c.

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.025*** -0.026*** -0.011** -0.014*** -0.010** -0.004 -0.012** 0.234

(0.005) (0.005) (0.005) (0.005) (0.005) (0.004) (0.005) (0.238)

Log(Distance) 0.013*** 0.008 0.007 0.004 -0.007 -0.001 -0.266

(0.005) (0.005) (0.004) (0.004) (0.004) (0.004) (0.177)

Common Border 0.010 0.006 0.010 0.009 0.000 0.007 -0.865

(0.010) (0.010) (0.010) (0.010) (0.009) (0.009) (0.555)

Common Language 0.003 -0.000 0.001 -0.001 -0.019* -0.020* 0.840*

(0.011) (0.011) (0.011) (0.011) (0.010) (0.011) (0.435)

Island 0.029*** 0.027*** 0.018*** 0.018*** 0.022*** 0.021*** 0.470*

(0.006) (0.005) (0.006) (0.006) (0.006) (0.006) (0.249)

Landlocked 0.005 0.002 -0.002 -0.003 -0.009* -0.008 0.050

(0.005) (0.005) (0.005) (0.005) (0.005) (0.005) (0.211)

Var(Exch. Rate) 0.115*** 0.115*** 0.086*** 0.085*** 0.097*** -0.381

(0.022) (0.021) (0.023) (0.026) (0.023) (0.820)

Log(Expenditures) -0.006*** -0.006*** -0.005*** -0.006*** -0.224***

(0.001) (0.001) (0.001) (0.001) (0.052)

European Union -0.019*** -0.028*** -0.017*** -0.888***

(0.007) (0.008) (0.007) (0.288)

R2 0.05 0.13 0.20 0.25 0.26 0.35 0.31 0.11

# Observations 496 496 496 496 496 431 431 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 18: Materials for repair of dwelling

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.032*** -0.032*** -0.021*** -0.020*** -0.018*** -0.012*** -0.017*** 0.195

(0.003) (0.003) (0.003) (0.003) (0.003) (0.003) (0.003) (0.274)

Log(Distance) 0.002 -0.002 -0.002 -0.003 -0.002 -0.002 -0.114

(0.004) (0.003) (0.003) (0.003) (0.003) (0.003) (0.158)

Common Border 0.004 0.002 0.000 -0.001 -0.007 0.000 -0.484

(0.007) (0.007) (0.007) (0.007) (0.006) (0.006) (0.336)

Common Language 0.002 -0.000 -0.001 -0.003 0.003 -0.002 0.149

(0.007) (0.007) (0.007) (0.007) (0.005) (0.007) (0.373)

Island 0.025*** 0.024*** 0.027*** 0.027*** 0.017*** 0.024*** -0.010

(0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.224)

Landlocked 0.006* 0.004 0.006 0.005 0.006** 0.004 0.046

(0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.244)

Var(Exch. Rate) 0.084*** 0.084*** 0.067*** 0.091*** 0.071*** 0.069

(0.017) (0.017) (0.019) (0.019) (0.019) (0.936)

Log(Expenditures) 0.002** 0.002** 0.002** 0.002** 0.015

(0.001) (0.001) (0.001) (0.001) (0.049)

European Union -0.011** -0.014*** -0.012** -0.225

(0.005) (0.005) (0.005) (0.291)

R2 0.13 0.21 0.27 0.28 0.29 0.33 0.30 0.00

# Observations 494 494 494 494 494 485 485 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 19: Liquid fuels

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.007 -0.007 0.003 0.005 -0.005 -0.004 -0.007 -0.086

(0.009) (0.009) (0.010) (0.010) (0.011) (0.008) (0.010) (0.339)

Log(Distance) 0.014 0.014 0.014 0.018** 0.016*** 0.019** -0.080

(0.010) (0.009) (0.009) (0.009) (0.006) (0.008) (0.305)

Common Border 0.020 0.020 0.027 0.029* 0.027** 0.026* -0.155

(0.018) (0.017) (0.017) (0.017) (0.013) (0.016) (0.674)

Common Language -0.033 -0.032 -0.033* -0.025 -0.020 -0.019 0.075

(0.020) (0.020) (0.019) (0.019) (0.014) (0.017) (0.758)

Island 0.003 0.002 -0.001 -0.004 -0.016** -0.008 -0.939**

(0.011) (0.011) (0.010) (0.010) (0.007) (0.009) (0.384)

Landlocked 0.030*** 0.027*** 0.021** 0.029*** 0.009 0.025*** 0.096

(0.010) (0.010) (0.010) (0.011) (0.008) (0.009) (0.330)

Var(Exch. Rate) 0.106** 0.126** 0.133** 0.133** 0.111* 1.786*

(0.054) (0.053) (0.056) (0.056) (0.058) (1.074)

Log(Expenditures) -0.006*** -0.006** -0.004** -0.006** -0.037

(0.002) (0.002) (0.002) (0.002) (0.094)

European Union 0.037*** 0.021** 0.033*** 0.559

(0.010) (0.009) (0.010) (0.463)

R2 0.00 0.06 0.08 0.10 0.14 0.11 0.13 0.05

# Observations 231 231 231 231 231 226 226 231

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS.

(6) FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where

b
g
ij is the linear trend coefficient on the threshold.

Table 20: Solid Fuels

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.018** -0.017** -0.015* -0.018** -0.023*** -0.016** -0.024*** -0.627***

(0.007) (0.007) (0.008) (0.008) (0.008) (0.007) (0.007) (0.207)

Log(Distance) 0.006 0.005 0.005 0.008 0.002 0.007 0.366**

(0.006) (0.006) (0.006) (0.005) (0.005) (0.005) (0.185)

Common Border 0.019 0.019 0.021* 0.020 0.001 0.017 0.698**

(0.013) (0.013) (0.013) (0.012) (0.013) (0.011) (0.308)

Common Language -0.040*** -0.040*** -0.038*** -0.032*** -0.015 -0.027*** -0.209

(0.010) (0.010) (0.010) (0.009) (0.009) (0.009) (0.366)

Island -0.003 -0.003 -0.002 -0.005 0.004 -0.003 0.146

(0.007) (0.007) (0.007) (0.007) (0.006) (0.006) (0.179)

Landlocked 0.004 0.003 0.002 0.003 0.003 0.002 -0.133

(0.007) (0.007) (0.007) (0.007) (0.006) (0.006) (0.176)

Var(Exch. Rate) 0.017 0.027 0.057** 0.112*** 0.076*** 2.204***

(0.024) (0.024) (0.025) (0.030) (0.025) (0.567)

Log(Expenditures) -0.004** -0.003* -0.002 -0.003* -0.002

(0.002) (0.002) (0.001) (0.002) (0.043)

European Union 0.026*** 0.020*** 0.025*** 0.678**

(0.008) (0.007) (0.007) (0.318)

R2 0.02 0.05 0.06 0.07 0.09 0.15 0.12 0.09

# Observations 300 300 300 300 300 291 291 300

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

11



Table 21: Furniture

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.026*** -0.027*** -0.007** -0.008** -0.005 -0.003 -0.005 0.577**

(0.004) (0.004) (0.003) (0.004) (0.004) (0.003) (0.003) (0.233)

Log(Distance) 0.017*** 0.010*** 0.009*** 0.007*** 0.005** 0.006** 0.061

(0.004) (0.003) (0.003) (0.003) (0.002) (0.003) (0.204)

Common Border 0.015** 0.010 0.013* 0.011 0.002 0.009 -0.265

(0.008) (0.007) (0.007) (0.007) (0.005) (0.006) (0.419)

Common Language -0.002 -0.007 -0.006 -0.008 -0.000 -0.005 0.568

(0.007) (0.007) (0.007) (0.007) (0.005) (0.007) (0.383)

Island 0.029*** 0.027*** 0.021*** 0.021*** 0.012*** 0.018*** 0.196

(0.005) (0.005) (0.005) (0.005) (0.005) (0.004) (0.209)

Landlocked 0.004 -0.000 -0.003 -0.003 -0.003 -0.004 -0.058

(0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.229)

Var(Exch. Rate) 0.154*** 0.154*** 0.124*** 0.160*** 0.125*** 5.772***

(0.019) (0.019) (0.020) (0.020) (0.019) (0.852)

Log(Expenditures) -0.004*** -0.004*** -0.002*** -0.003*** -0.005

(0.001) (0.001) (0.001) (0.001) (0.042)

European Union -0.020*** -0.010** -0.016*** 1.340***

(0.006) (0.005) (0.005) (0.406)

R2 0.06 0.21 0.35 0.38 0.40 0.39 0.37 0.08

# Observations 492 492 492 492 492 474 474 492

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 22: Carpets

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.023*** -0.024*** -0.005 -0.007 -0.003 -0.006* -0.008** 0.285

(0.005) (0.005) (0.004) (0.004) (0.004) (0.003) (0.004) (0.241)

Log(Distance) 0.027*** 0.020*** 0.019*** 0.017*** 0.010*** 0.013*** 0.099

(0.005) (0.004) (0.004) (0.004) (0.003) (0.003) (0.196)

Common Border 0.033*** 0.028*** 0.031*** 0.029*** 0.015*** 0.023*** -0.022

(0.010) (0.009) (0.008) (0.009) (0.006) (0.007) (0.487)

Common Language -0.006 -0.010 -0.009 -0.012 0.000 -0.008 0.247

(0.009) (0.009) (0.009) (0.009) (0.005) (0.007) (0.531)

Island 0.041*** 0.038*** 0.031*** 0.031*** 0.030*** 0.032*** 0.341*

(0.006) (0.005) (0.005) (0.005) (0.005) (0.005) (0.188)

Landlocked 0.007 0.003 -0.000 -0.001 -0.003 0.002 0.014

(0.005) (0.005) (0.005) (0.005) (0.003) (0.004) (0.213)

Var(Exch. Rate) 0.152*** 0.152*** 0.117*** 0.111*** 0.116*** 0.800

(0.023) (0.022) (0.023) (0.020) (0.020) (0.772)

Log(Expenditures) -0.005*** -0.005*** -0.003*** -0.005*** -0.031

(0.001) (0.001) (0.001) (0.001) (0.041)

European Union -0.022*** -0.019*** -0.019*** -0.532*

(0.006) (0.005) (0.005) (0.310)

R2 0.04 0.25 0.35 0.38 0.40 0.44 0.45 0.03

# Observations 494 494 494 494 494 461 461 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 23: Household appliances

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.037*** -0.037*** -0.029*** -0.028*** -0.027*** -0.018*** -0.025*** 0.170

(0.003) (0.003) (0.004) (0.004) (0.004) (0.003) (0.004) (0.253)

Log(Distance) -0.002 -0.004 -0.004 -0.004 0.001 -0.003 0.041

(0.004) (0.004) (0.003) (0.003) (0.003) (0.003) (0.248)

Common Border -0.003 -0.005 -0.006 -0.007 0.004 -0.001 0.045

(0.006) (0.007) (0.007) (0.007) (0.005) (0.006) (0.449)

Common Language 0.005 0.003 0.003 0.002 -0.003 0.001 0.376

(0.008) (0.008) (0.008) (0.008) (0.004) (0.008) (0.312)

Island 0.042*** 0.041*** 0.045*** 0.045*** 0.018*** 0.035*** 0.615**

(0.005) (0.005) (0.006) (0.006) (0.004) (0.005) (0.249)

Landlocked 0.007* 0.005 0.007* 0.007* 0.004 0.005 0.128

(0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.233)

Var(Exch. Rate) 0.062*** 0.062*** 0.055*** 0.079*** 0.052*** -2.910***

(0.017) (0.018) (0.019) (0.019) (0.018) (1.053)

Log(Expenditures) 0.003** 0.003** -0.001 0.001 -0.091*

(0.001) (0.001) (0.001) (0.001) (0.049)

European Union -0.004 -0.017*** -0.010** -0.279

(0.005) (0.004) (0.005) (0.307)

R2 0.14 0.30 0.33 0.34 0.34 0.45 0.33 0.05

# Observations 492 492 492 492 492 455 455 492

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 24: Non-durable household goods

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.032*** -0.033*** -0.017*** -0.017*** -0.014*** -0.010*** -0.012*** 0.234

(0.003) (0.003) (0.003) (0.003) (0.004) (0.003) (0.003) (0.285)

Log(Distance) 0.010*** 0.005 0.005 0.003 0.002 0.002 0.088

(0.004) (0.003) (0.003) (0.003) (0.003) (0.003) (0.191)

Common Border 0.008 0.004 0.004 0.002 -0.003 0.001 0.201

(0.008) (0.007) (0.007) (0.007) (0.005) (0.006) (0.404)

Common Language -0.003 -0.007 -0.007 -0.010 -0.004 -0.009 0.075

(0.008) (0.007) (0.007) (0.007) (0.005) (0.007) (0.470)

Island 0.025*** 0.023*** 0.023*** 0.023*** 0.013*** 0.020*** 0.435**

(0.005) (0.004) (0.004) (0.004) (0.004) (0.004) (0.219)

Landlocked 0.004 0.001 0.001 0.000 -0.002 -0.001 0.095

(0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.245)

Var(Exch. Rate) 0.121*** 0.121*** 0.090*** 0.117*** 0.094*** 1.512

(0.018) (0.018) (0.020) (0.021) (0.020) (1.237)

Log(Expenditures) 0.000 0.000 -0.000 -0.000 0.115*

(0.001) (0.001) (0.001) (0.001) (0.065)

European Union -0.020*** -0.021*** -0.020*** 0.172

(0.006) (0.006) (0.005) (0.401)

R2 0.11 0.21 0.31 0.31 0.33 0.41 0.35 0.02

# Observations 494 494 494 494 494 490 490 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 25: Pharmaceutical

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.015** -0.017*** -0.016** -0.015** -0.014** -0.016*** -0.015** 0.224

(0.006) (0.006) (0.007) (0.007) (0.007) (0.005) (0.006) (0.203)

Log(Distance) 0.027*** 0.027*** 0.027*** 0.027*** 0.013*** 0.019*** 0.025

(0.006) (0.006) (0.006) (0.006) (0.004) (0.005) (0.136)

Common Border 0.011 0.011 0.009 0.009 0.001 0.006 0.339

(0.012) (0.012) (0.012) (0.012) (0.009) (0.010) (0.235)

Common Language 0.021* 0.021* 0.021 0.020 0.007 0.015 0.101

(0.012) (0.012) (0.013) (0.013) (0.011) (0.011) (0.176)

Island 0.001 0.001 0.004 0.004 0.012** 0.010* 0.165

(0.007) (0.007) (0.007) (0.007) (0.005) (0.006) (0.189)

Landlocked -0.001 -0.001 0.000 0.000 0.003 0.002 0.130

(0.006) (0.006) (0.006) (0.006) (0.005) (0.005) (0.198)

Var(Exch. Rate) 0.008 0.008 0.002 0.021 0.017 1.166

(0.023) (0.024) (0.026) (0.024) (0.023) (0.734)

Log(Expenditures) 0.002 0.002 0.001 0.001 0.075

(0.001) (0.001) (0.001) (0.001) (0.046)

European Union -0.004 -0.008 -0.006 0.076

(0.008) (0.006) (0.007) (0.280)

R2 0.01 0.07 0.07 0.08 0.08 0.11 0.08 0.02

# Observations 496 496 496 496 496 489 489 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS.

(6) FGLS. Details in the main text. c̄g = 0.08. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij

is the linear trend coefficient on the threshold.

Table 26: Medical Products

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.030*** -0.031*** 0.010** 0.011*** 0.014*** 0.008** 0.010*** 0.258

(0.005) (0.005) (0.004) (0.004) (0.004) (0.004) (0.004) (0.181)

Log(Distance) 0.017*** 0.003 0.003 0.001 0.002 0.002 0.082

(0.006) (0.004) (0.004) (0.004) (0.003) (0.004) (0.148)

Common Border 0.017 0.007 0.005 0.003 -0.000 0.004 -0.316

(0.012) (0.008) (0.008) (0.009) (0.008) (0.008) (0.347)

Common Language 0.007 -0.002 -0.003 -0.005 -0.007 -0.006 -0.234

(0.013) (0.008) (0.008) (0.008) (0.007) (0.007) (0.471)

Island 0.016** 0.010** 0.015*** 0.015*** 0.009** 0.014*** -0.025

(0.007) (0.005) (0.005) (0.005) (0.004) (0.004) (0.174)

Landlocked 0.004 -0.004 -0.001 -0.002 -0.000 -0.003 0.270*

(0.006) (0.005) (0.005) (0.005) (0.004) (0.004) (0.141)

Var(Exch. Rate) 0.321*** 0.321*** 0.293*** 0.267*** 0.272*** 1.266*

(0.022) (0.022) (0.025) (0.025) (0.024) (0.739)

Log(Expenditures) 0.003*** 0.003*** 0.003*** 0.003*** -0.001

(0.001) (0.001) (0.001) (0.001) (0.034)

European Union -0.018** -0.017*** -0.017** 0.061

(0.007) (0.006) (0.007) (0.291)

R2 0.05 0.10 0.50 0.51 0.52 0.46 0.49 0.03

# Observations 490 490 490 490 490 479 479 490

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS.

(6) FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij

is the linear trend coefficient on the threshold.
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Table 27: Cars

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.030*** -0.030*** -0.015*** -0.015*** -0.013*** -0.008* -0.008** -0.134

(0.004) (0.004) (0.004) (0.004) (0.005) (0.004) (0.004) (0.171)

Log(Distance) 0.003 -0.002 -0.002 -0.003 -0.004 -0.004 -0.048

(0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.170)

Common Border -0.001 -0.005 -0.006 -0.007 -0.008 -0.005 -1.024*

(0.009) (0.009) (0.009) (0.009) (0.007) (0.008) (0.570)

Common Language -0.004 -0.008 -0.008 -0.010 -0.020*** -0.019** 0.505

(0.012) (0.012) (0.012) (0.012) (0.006) (0.008) (0.378)

Island 0.018*** 0.016*** 0.017*** 0.018*** 0.016*** 0.017*** -0.262

(0.005) (0.005) (0.005) (0.005) (0.004) (0.004) (0.179)

Landlocked 0.011** 0.008* 0.008* 0.008* 0.004 0.007* 0.025

(0.005) (0.004) (0.004) (0.004) (0.003) (0.004) (0.147)

Var(Exch. Rate) 0.117*** 0.117*** 0.099*** 0.084*** 0.094*** -0.110

(0.018) (0.018) (0.019) (0.018) (0.018) (0.707)

Log(Expenditures) 0.001 0.001 0.000 0.001 -0.013

(0.001) (0.001) (0.001) (0.001) (0.045)

European Union -0.012** -0.027*** -0.018*** -0.177

(0.006) (0.006) (0.005) (0.235)

R2 0.10 0.14 0.23 0.23 0.24 0.38 0.27 0.03

# Observations 494 494 494 494 494 475 475 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 28: Motor Cycles

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.036*** -0.035*** -0.017*** -0.018*** -0.015*** -0.012*** -0.012*** 0.140

(0.004) (0.004) (0.005) (0.005) (0.005) (0.004) (0.004) (0.207)

Log(Distance) 0.021*** 0.014*** 0.013*** 0.011*** 0.003 0.008** 0.032

(0.005) (0.004) (0.004) (0.004) (0.003) (0.003) (0.115)

Common Border 0.015* 0.010 0.013* 0.012 0.001 0.008 0.130

(0.008) (0.008) (0.007) (0.007) (0.005) (0.006) (0.300)

Common Language 0.010 0.005 0.006 0.003 -0.001 0.001 0.236

(0.008) (0.007) (0.007) (0.008) (0.006) (0.007) (0.269)

Island 0.032*** 0.029*** 0.024*** 0.024*** 0.012*** 0.020*** 0.418**

(0.006) (0.006) (0.005) (0.005) (0.004) (0.005) (0.167)

Landlocked 0.003 -0.000 -0.004 -0.004 -0.003 -0.004 -0.174

(0.005) (0.004) (0.004) (0.004) (0.004) (0.004) (0.207)

Var(Exch. Rate) 0.144*** 0.143*** 0.112*** 0.095*** 0.104*** 1.587**

(0.021) (0.019) (0.021) (0.018) (0.019) (0.799)

Log(Expenditures) -0.005*** -0.005*** -0.003*** -0.004*** 0.095**

(0.001) (0.001) (0.001) (0.001) (0.040)

European Union -0.020*** -0.018*** -0.020*** -0.085

(0.006) (0.005) (0.006) (0.299)

R2 0.10 0.24 0.35 0.38 0.39 0.33 0.35 0.04

# Observations 463 463 463 463 463 457 457 463

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 29: Accessories for transport

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.035*** -0.036*** -0.015*** -0.016*** -0.015*** -0.014*** -0.015*** -0.266

(0.004) (0.004) (0.003) (0.003) (0.003) (0.003) (0.003) (0.172)

Log(Distance) 0.016*** 0.008*** 0.008*** 0.007*** 0.005** 0.006** 0.557***

(0.003) (0.003) (0.003) (0.003) (0.003) (0.003) (0.170)

Common Border 0.012* 0.007 0.009 0.008 0.003 0.006 0.576**

(0.007) (0.006) (0.006) (0.006) (0.005) (0.005) (0.284)

Common Language 0.003 -0.001 -0.001 -0.002 0.001 0.000 0.435**

(0.007) (0.006) (0.006) (0.006) (0.005) (0.006) (0.216)

Island 0.030*** 0.028*** 0.025*** 0.025*** 0.016*** 0.021*** 0.234

(0.005) (0.004) (0.004) (0.004) (0.003) (0.004) (0.153)

Landlocked 0.007* 0.003 0.001 0.001 -0.000 0.001 0.055

(0.004) (0.003) (0.004) (0.004) (0.003) (0.003) (0.154)

Var(Exch. Rate) 0.159*** 0.159*** 0.148*** 0.153*** 0.141*** 1.958***

(0.017) (0.017) (0.018) (0.022) (0.019) (0.641)

Log(Expenditures) -0.002*** -0.002*** -0.001* -0.002*** 0.029

(0.001) (0.001) (0.001) (0.001) (0.035)

European Union -0.008 -0.005 -0.008 0.665**

(0.005) (0.005) (0.005) (0.280)

R2 0.13 0.28 0.45 0.46 0.46 0.42 0.44 0.07

# Observations 494 494 494 494 494 488 488 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 30: Fuels for transport

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.009** -0.010*** 0.005 0.004 0.005 0.005 0.004 -0.057

(0.004) (0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.190)

Log(Distance) 0.017*** 0.012*** 0.011*** 0.010*** 0.011*** 0.011*** 0.068

(0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.166)

Common Border 0.018* 0.014* 0.016* 0.015* 0.014** 0.013* -0.006

(0.009) (0.008) (0.008) (0.008) (0.006) (0.007) (0.299)

Common Language -0.000 -0.004 -0.003 -0.004 -0.002 -0.002 0.231

(0.008) (0.009) (0.008) (0.009) (0.006) (0.007) (0.232)

Island 0.014*** 0.012*** 0.008* 0.008* 0.004 0.006 -0.557**

(0.005) (0.004) (0.004) (0.004) (0.004) (0.004) (0.263)

Landlocked -0.006 -0.009** -0.011*** -0.011*** -0.009*** -0.010*** -0.209

(0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.185)

Var(Exch. Rate) 0.121*** 0.121*** 0.107*** 0.101*** 0.104*** 0.415

(0.018) (0.018) (0.019) (0.019) (0.018) (0.727)

Log(Expenditures) -0.003*** -0.003*** -0.002*** -0.003*** -0.030

(0.001) (0.001) (0.001) (0.001) (0.041)

European Union -0.009* -0.009* -0.008* -0.016

(0.005) (0.005) (0.005) (0.191)

R2 0.01 0.12 0.24 0.25 0.26 0.24 0.26 0.02

# Observations 494 494 494 494 494 485 485 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 31: Equipment for sound recording

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.037*** -0.038*** -0.027*** -0.027*** -0.019*** -0.014*** -0.017*** -0.253

(0.005) (0.004) (0.005) (0.005) (0.005) (0.005) (0.004) (0.237)

Log(Distance) 0.018*** 0.014*** 0.014*** 0.009** 0.010** 0.010*** -0.076

(0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.124)

Common Border 0.011 0.008 0.008 0.004 0.011 0.007 -0.581

(0.008) (0.008) (0.008) (0.007) (0.008) (0.008) (0.399)

Common Language 0.010 0.007 0.007 0.001 0.000 -0.001 0.190

(0.009) (0.010) (0.010) (0.010) (0.009) (0.010) (0.531)

Island 0.043*** 0.041*** 0.041*** 0.041*** 0.029*** 0.035*** 0.320

(0.006) (0.006) (0.006) (0.006) (0.006) (0.006) (0.202)

Landlocked -0.001 -0.003 -0.003 -0.004 -0.006 -0.006 -0.123

(0.005) (0.005) (0.005) (0.005) (0.005) (0.004) (0.198)

Var(Exch. Rate) 0.091*** 0.091*** 0.023 0.073*** 0.036* -1.020

(0.020) (0.020) (0.022) (0.023) (0.021) (0.735)

Log(Expenditures) -0.000 0.000 -0.001 -0.001 0.019

(0.001) (0.001) (0.001) (0.001) (0.034)

European Union -0.044*** -0.041*** -0.044*** -0.401***

(0.007) (0.007) (0.006) (0.137)

R2 0.09 0.28 0.32 0.32 0.38 0.45 0.40 0.02

# Observations 494 494 494 494 494 473 473 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 32: Photographic equipment

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.009 -0.009 0.021** 0.019** 0.023** 0.004 0.018** -0.286

(0.008) (0.008) (0.009) (0.008) (0.009) (0.008) (0.008) (0.231)

Log(Distance) 0.013 0.002 0.002 -0.001 0.009 0.001 0.354

(0.009) (0.008) (0.008) (0.008) (0.007) (0.008) (0.238)

Common Border 0.012 0.005 0.008 0.006 0.016 0.009 0.516

(0.016) (0.015) (0.014) (0.014) (0.012) (0.014) (0.332)

Common Language 0.014 0.006 0.007 0.003 0.006 0.004 0.286

(0.016) (0.016) (0.016) (0.017) (0.016) (0.017) (0.368)

Island 0.036*** 0.030*** 0.025** 0.025** 0.020** 0.023** -0.247

(0.010) (0.010) (0.010) (0.010) (0.009) (0.010) (0.250)

Landlocked -0.012 -0.018** -0.022*** -0.022*** -0.022*** -0.025*** 0.273

(0.008) (0.008) (0.008) (0.008) (0.007) (0.008) (0.183)

Var(Exch. Rate) 0.233*** 0.231*** 0.200*** 0.199*** 0.197*** 2.111***

(0.031) (0.032) (0.033) (0.031) (0.032) (0.644)

Log(Expenditures) -0.005** -0.005** -0.005*** -0.006*** -0.097*

(0.002) (0.002) (0.002) (0.002) (0.052)

European Union -0.020** -0.018** -0.018** 0.331

(0.010) (0.008) (0.009) (0.224)

R2 0.00 0.07 0.18 0.19 0.20 0.29 0.21 0.05

# Observations 463 463 463 463 463 442 442 463

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS.

(6) FGLS. Details in the main text. c̄g = 0.11. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij

is the linear trend coefficient on the threshold.
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Table 33: Information processing eq.

(1) (2) (3) (4) (5) (6) (7) (8)

Euro 0.008 0.007 0.003 0.004 0.000 -0.005 -0.000 -0.216

(0.008) (0.008) (0.008) (0.008) (0.009) (0.006) (0.008) (0.162)

Log(Distance) -0.006 -0.004 -0.004 -0.002 0.004 -0.001 0.272*

(0.007) (0.007) (0.007) (0.007) (0.006) (0.006) (0.159)

Common Border 0.002 0.003 0.001 0.003 0.018 0.005 -0.542

(0.015) (0.015) (0.014) (0.014) (0.011) (0.013) (0.371)

Common Language -0.012 -0.011 -0.012 -0.009 -0.021 -0.013 0.330

(0.018) (0.018) (0.018) (0.018) (0.014) (0.016) (0.432)

Island 0.056*** 0.057*** 0.060*** 0.060*** 0.047*** 0.053*** 0.146

(0.010) (0.010) (0.011) (0.011) (0.008) (0.009) (0.145)

Landlocked -0.017** -0.016** -0.015* -0.014* -0.007 -0.012* 0.289

(0.007) (0.007) (0.008) (0.008) (0.006) (0.007) (0.181)

Var(Exch. Rate) -0.033 -0.034 -0.006 -0.002 -0.001 -1.630*

(0.027) (0.027) (0.028) (0.023) (0.026) (0.954)

Log(Expenditures) 0.003 0.002 0.001 0.002 0.062**

(0.002) (0.002) (0.001) (0.002) (0.031)

European Union 0.018** 0.003 0.014* 0.206

(0.009) (0.007) (0.008) (0.207)

R2 0.00 0.11 0.11 0.12 0.12 0.12 0.11 0.05

# Observations 496 496 496 496 496 493 493 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5)

WLS. (6) FGLS. Details in the main text. c̄g = 0.10. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij ,

where b
g
ij is the linear trend coefficient on the threshold.

Table 34: Recording media

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.015*** -0.016*** -0.006 -0.007 -0.004 -0.003 -0.006 0.211

(0.005) (0.004) (0.005) (0.005) (0.005) (0.004) (0.005) (0.309)

Log(Distance) 0.012*** 0.008* 0.007* 0.005 0.005 0.005 -0.217

(0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.221)

Common Border 0.009 0.007 0.009 0.007 0.008 0.007 -0.022

(0.008) (0.008) (0.008) (0.008) (0.007) (0.008) (0.439)

Common Language -0.007 -0.010 -0.009 -0.011 -0.010* -0.010 -0.437

(0.007) (0.007) (0.007) (0.007) (0.006) (0.007) (0.560)

Island 0.055*** 0.053*** 0.048*** 0.048*** 0.039*** 0.044*** 0.276

(0.006) (0.006) (0.006) (0.006) (0.005) (0.005) (0.293)

Landlocked -0.002 -0.005 -0.007 -0.007* -0.002 -0.006 -0.366

(0.005) (0.004) (0.004) (0.004) (0.004) (0.004) (0.268)

Var(Exch. Rate) 0.082*** 0.082*** 0.053*** 0.099*** 0.064*** 0.802

(0.017) (0.017) (0.018) (0.018) (0.018) (1.118)

Log(Expenditures) -0.004*** -0.004*** -0.002** -0.003*** -0.242***

(0.001) (0.001) (0.001) (0.001) (0.057)

European Union -0.019*** -0.023*** -0.021*** -0.623*

(0.006) (0.006) (0.005) (0.337)

R2 0.02 0.28 0.32 0.33 0.35 0.39 0.35 0.05

# Observations 492 492 492 492 492 478 478 492

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 35: Durables for recreation

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.055*** -0.056*** -0.021*** -0.022*** -0.016*** -0.011*** -0.015*** 0.016

(0.005) (0.005) (0.005) (0.005) (0.005) (0.004) (0.005) (0.169)

Log(Distance) 0.033*** 0.019*** 0.017*** 0.013*** 0.008** 0.011*** 0.377

(0.006) (0.005) (0.005) (0.005) (0.003) (0.004) (0.233)

Common Border 0.034*** 0.026** 0.027*** 0.023** 0.012 0.020** 0.004

(0.012) (0.010) (0.010) (0.010) (0.008) (0.009) (0.363)

Common Language -0.005 -0.014 -0.014 -0.019* -0.010 -0.018* 0.067

(0.010) (0.010) (0.011) (0.010) (0.007) (0.010) (0.245)

Island 0.022*** 0.018*** 0.012** 0.013** 0.007 0.011** 0.258

(0.007) (0.005) (0.006) (0.006) (0.005) (0.005) (0.254)

Landlocked -0.005 -0.012** -0.016*** -0.017*** -0.015*** -0.017*** 0.209

(0.006) (0.005) (0.005) (0.005) (0.004) (0.005) (0.272)

Var(Exch. Rate) 0.268*** 0.270*** 0.220*** 0.200*** 0.200*** -1.544

(0.021) (0.021) (0.025) (0.026) (0.025) (1.490)

Log(Expenditures) -0.004*** -0.004*** -0.003*** -0.003*** 0.109*

(0.001) (0.001) (0.001) (0.001) (0.061)

European Union -0.033*** -0.026*** -0.032*** -0.702*

(0.008) (0.007) (0.007) (0.386)

R2 0.14 0.27 0.52 0.53 0.56 0.48 0.51 0.04

# Observations 406 406 406 406 406 399 399 406

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 36: Games

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.050*** -0.049*** -0.040*** -0.039*** -0.036*** -0.019*** -0.032*** -0.565***

(0.004) (0.004) (0.004) (0.004) (0.005) (0.004) (0.004) (0.201)

Log(Distance) 0.014*** 0.011*** 0.011*** 0.009** 0.003 0.005 0.010

(0.004) (0.004) (0.004) (0.004) (0.003) (0.004) (0.139)

Common Border 0.009 0.007 0.006 0.004 0.004 0.004 -0.098

(0.008) (0.008) (0.008) (0.008) (0.006) (0.007) (0.336)

Common Language -0.009 -0.011 -0.011 -0.014** -0.013*** -0.013* -0.102

(0.008) (0.008) (0.008) (0.007) (0.005) (0.007) (0.443)

Island 0.048*** 0.047*** 0.049*** 0.049*** 0.035*** 0.044*** 0.342

(0.006) (0.006) (0.006) (0.006) (0.005) (0.005) (0.210)

Landlocked 0.027*** 0.025*** 0.026*** 0.025*** 0.013*** 0.020*** 0.743***

(0.005) (0.005) (0.005) (0.005) (0.004) (0.004) (0.134)

Var(Exch. Rate) 0.069*** 0.069*** 0.036 0.078*** 0.046** -2.487***

(0.023) (0.023) (0.023) (0.022) (0.022) (0.894)

Log(Expenditures) 0.001 0.002 0.002** 0.002 -0.073*

(0.001) (0.001) (0.001) (0.001) (0.040)

European Union -0.021*** -0.027*** -0.024*** 0.301

(0.006) (0.005) (0.006) (0.225)

R2 0.15 0.34 0.36 0.37 0.38 0.39 0.38 0.09

# Observations 496 496 496 496 496 473 473 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 37: Equipment for sport

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.027*** -0.029*** -0.009* -0.011** -0.007 -0.012*** -0.015*** 0.017

(0.005) (0.005) (0.005) (0.005) (0.005) (0.004) (0.004) (0.279)

Log(Distance) 0.018*** 0.010** 0.009** 0.006 0.005 0.007** 0.354

(0.005) (0.004) (0.004) (0.004) (0.003) (0.004) (0.244)

Common Border 0.016* 0.011 0.015* 0.013 0.017*** 0.013* -0.577

(0.009) (0.009) (0.008) (0.009) (0.006) (0.008) (0.622)

Common Language -0.011 -0.016 -0.014 -0.018* -0.015* -0.016 0.146

(0.009) (0.010) (0.010) (0.010) (0.008) (0.010) (0.784)

Island 0.047*** 0.045*** 0.035*** 0.035*** 0.027*** 0.034*** -0.276

(0.007) (0.006) (0.006) (0.007) (0.006) (0.006) (0.250)

Landlocked -0.004 -0.008 -0.012** -0.013** -0.011** -0.014*** -0.504*

(0.006) (0.005) (0.005) (0.005) (0.004) (0.004) (0.273)

Var(Exch. Rate) 0.158*** 0.159*** 0.119*** 0.086*** 0.087*** 0.754

(0.026) (0.025) (0.025) (0.027) (0.022) (0.939)

Log(Expenditures) -0.007*** -0.006*** -0.005*** -0.005*** -0.062

(0.001) (0.001) (0.001) (0.001) (0.050)

European Union -0.026*** -0.021*** -0.025*** -0.594**

(0.007) (0.007) (0.006) (0.257)

R2 0.04 0.22 0.31 0.35 0.37 0.34 0.36 0.05

# Observations 496 496 496 496 496 462 462 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 38: Plants and flowers

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.027*** -0.028*** -0.009** -0.009** -0.003 -0.005 -0.006* 0.180

(0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.266)

Log(Distance) 0.019*** 0.015*** 0.015*** 0.012*** 0.006** 0.009** -0.122

(0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.182)

Common Border 0.018** 0.014* 0.014* 0.011 0.007 0.011 -0.091

(0.008) (0.007) (0.007) (0.007) (0.005) (0.006) (0.486)

Common Language 0.005 0.006 0.006 0.002 0.002 -0.003 -0.813

(0.009) (0.010) (0.010) (0.009) (0.007) (0.008) (0.617)

Island 0.040*** 0.030*** 0.030*** 0.029*** 0.019*** 0.028*** 0.545*

(0.006) (0.005) (0.005) (0.005) (0.004) (0.005) (0.280)

Landlocked 0.003 -0.007 -0.007 -0.008* -0.004 -0.007* 0.490*

(0.005) (0.004) (0.005) (0.004) (0.004) (0.004) (0.263)

Var(Exch. Rate) 0.221*** 0.220*** 0.187*** 0.163*** 0.173*** -4.808***

(0.032) (0.032) (0.030) (0.027) (0.028) (1.784)

Log(Expenditures) -0.000 0.000 0.000 0.000 0.018

(0.001) (0.001) (0.001) (0.001) (0.047)

European Union -0.027*** -0.026*** -0.027*** -1.298***

(0.007) (0.007) (0.006) (0.325)

R2 0.06 0.25 0.37 0.37 0.40 0.33 0.39 0.06

# Observations 465 465 465 465 465 445 445 465

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 39: Pets

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.039*** -0.041*** -0.006* -0.006 -0.003 -0.007** -0.005 -0.002

(0.005) (0.005) (0.004) (0.004) (0.004) (0.003) (0.003) (0.154)

Log(Distance) 0.017*** 0.003 0.003 0.002 0.000 -0.001 0.164

(0.005) (0.004) (0.004) (0.004) (0.003) (0.004) (0.143)

Common Border -0.000 -0.012* -0.014* -0.014** -0.011** -0.014** -0.222

(0.010) (0.007) (0.007) (0.007) (0.005) (0.006) (0.359)

Common Language 0.022* 0.016** 0.016** 0.014** 0.011** 0.011* 0.379

(0.013) (0.007) (0.007) (0.007) (0.005) (0.006) (0.301)

Island 0.012* 0.004 0.006 0.007 0.012*** 0.010** -0.030

(0.006) (0.004) (0.005) (0.005) (0.004) (0.004) (0.143)

Landlocked -0.007 -0.018*** -0.016*** -0.016*** -0.010*** -0.016*** -0.349**

(0.005) (0.004) (0.004) (0.004) (0.003) (0.004) (0.158)

Var(Exch. Rate) 0.305*** 0.305*** 0.284*** 0.256*** 0.274*** 1.370*

(0.019) (0.019) (0.021) (0.021) (0.021) (0.740)

Log(Expenditures) 0.002* 0.002* 0.001* 0.002*** 0.074***

(0.001) (0.001) (0.001) (0.001) (0.025)

European Union -0.012* -0.016*** -0.013** 0.317

(0.006) (0.005) (0.006) (0.334)

R2 0.10 0.17 0.56 0.57 0.57 0.58 0.58 0.04

# Observations 463 463 463 463 463 454 454 463

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 40: Printed matter

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.032*** -0.032*** -0.019*** -0.020*** -0.020*** -0.013*** -0.019*** 0.014

(0.003) (0.003) (0.003) (0.003) (0.004) (0.003) (0.003) (0.210)

Log(Distance) 0.004 -0.001 -0.001 -0.001 -0.002 -0.001 -0.147

(0.003) (0.003) (0.003) (0.003) (0.002) (0.003) (0.123)

Common Border 0.019*** 0.015** 0.016** 0.016** 0.005 0.014** 0.193

(0.007) (0.007) (0.007) (0.007) (0.006) (0.007) (0.187)

Common Language -0.006 -0.009 -0.008 -0.008 -0.006 -0.007 -0.306

(0.007) (0.007) (0.007) (0.008) (0.006) (0.007) (0.360)

Island 0.024*** 0.022*** 0.022*** 0.022*** 0.013*** 0.019*** 0.033

(0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.220)

Landlocked 0.009** 0.006* 0.006* 0.006* 0.001 0.005 -0.027

(0.004) (0.003) (0.003) (0.003) (0.003) (0.003) (0.160)

Var(Exch. Rate) 0.099*** 0.099*** 0.102*** 0.126*** 0.103*** 0.887

(0.015) (0.015) (0.017) (0.019) (0.017) (0.560)

Log(Expenditures) -0.000 -0.000 -0.001 -0.001 0.041

(0.001) (0.001) (0.001) (0.001) (0.042)

European Union 0.002 -0.007 -0.000 -0.275

(0.005) (0.005) (0.005) (0.186)

R2 0.14 0.22 0.30 0.30 0.30 0.43 0.32 0.02

# Observations 492 492 492 492 492 488 488 492

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.
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Table 41: Electrical Appliances

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.034*** -0.035*** -0.018*** -0.017*** -0.012*** -0.010*** -0.011*** 0.124

(0.003) (0.003) (0.003) (0.003) (0.003) (0.003) (0.003) (0.207)

Log(Distance) 0.011*** 0.005* 0.005* 0.002 0.001 0.002 -0.110

(0.003) (0.003) (0.003) (0.003) (0.003) (0.002) (0.187)

Common Border 0.009 0.005 0.004 0.001 -0.002 0.000 -0.119

(0.007) (0.006) (0.006) (0.006) (0.004) (0.005) (0.358)

Common Language 0.009 0.005 0.005 0.001 -0.002 -0.001 0.250

(0.007) (0.006) (0.006) (0.006) (0.004) (0.006) (0.278)

Island 0.027*** 0.025*** 0.028*** 0.028*** 0.016*** 0.024*** 0.673***

(0.004) (0.004) (0.004) (0.004) (0.004) (0.003) (0.193)

Landlocked 0.002 -0.002 -0.001 -0.002 -0.003 -0.003 0.139

(0.004) (0.003) (0.003) (0.003) (0.002) (0.003) (0.217)

Var(Exch. Rate) 0.138*** 0.138*** 0.094*** 0.128*** 0.101*** -0.031

(0.014) (0.014) (0.016) (0.015) (0.016) (1.240)

Log(Expenditures) 0.002*** 0.002*** 0.001** 0.002*** 0.023

(0.001) (0.001) (0.001) (0.001) (0.047)

European Union -0.028*** -0.026*** -0.027*** -0.296

(0.005) (0.005) (0.005) (0.490)

R2 0.15 0.28 0.43 0.44 0.49 0.55 0.50 0.02

# Observations 496 496 496 496 496 489 489 496

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.05. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

Table 42: Jewellery

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.018*** -0.018*** -0.002 -0.002 0.005 0.005 0.005 0.393*

(0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.203)

Log(Distance) 0.015*** 0.009** 0.009** 0.005 0.005 0.005 -0.050

(0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.164)

Common Border 0.015* 0.011 0.011 0.007 0.006 0.008 0.299

(0.008) (0.007) (0.007) (0.007) (0.008) (0.007) (0.310)

Common Language -0.009 -0.013 -0.013 -0.019** -0.012 -0.017** -0.221

(0.010) (0.009) (0.009) (0.009) (0.008) (0.008) (0.374)

Island 0.024*** 0.022*** 0.022*** 0.022*** 0.019*** 0.021*** 0.188

(0.005) (0.005) (0.005) (0.005) (0.005) (0.005) (0.179)

Landlocked 0.002 -0.001 -0.001 -0.002 0.002 -0.002 0.228

(0.005) (0.004) (0.005) (0.004) (0.004) (0.004) (0.161)

Var(Exch. Rate) 0.126*** 0.126*** 0.064*** 0.094*** 0.074*** 1.119

(0.019) (0.019) (0.021) (0.019) (0.020) (0.736)

Log(Expenditures) 0.000 0.001 0.001 0.001 0.049

(0.001) (0.001) (0.001) (0.001) (0.038)

European Union -0.040*** -0.038*** -0.038*** -0.434

(0.007) (0.006) (0.006) (0.274)

R2 0.03 0.13 0.22 0.22 0.28 0.29 0.28 0.03

# Observations 494 494 494 494 494 489 489 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.07. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

22



Table 43: Personal effects

(1) (2) (3) (4) (5) (6) (7) (8)

Euro -0.035*** -0.035*** -0.022*** -0.023*** -0.021*** -0.016*** -0.023*** 0.093

(0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.004) (0.261)

Log(Distance) 0.011*** 0.007* 0.007* 0.005 -0.000 0.001 -0.269

(0.004) (0.004) (0.004) (0.004) (0.003) (0.003) (0.207)

Common Border 0.009 0.006 0.006 0.005 0.009 0.002 -0.217

(0.008) (0.008) (0.008) (0.008) (0.009) (0.007) (0.419)

Common Language -0.004 -0.007 -0.007 -0.008 -0.011 -0.010 0.082

(0.009) (0.009) (0.009) (0.010) (0.007) (0.008) (0.430)

Island 0.025*** 0.024*** 0.023*** 0.023*** 0.016*** 0.022*** -0.351

(0.006) (0.005) (0.006) (0.006) (0.004) (0.005) (0.285)

Landlocked 0.005 0.002 0.002 0.002 -0.002 -0.000 -0.143

(0.005) (0.005) (0.005) (0.005) (0.004) (0.004) (0.243)

Var(Exch. Rate) 0.102*** 0.102*** 0.085*** 0.102*** 0.093*** 2.990***

(0.021) (0.021) (0.023) (0.027) (0.022) (0.918)

Log(Expenditures) -0.001 -0.001 0.000 -0.000 -0.060

(0.001) (0.001) (0.001) (0.001) (0.047)

European Union -0.011* -0.009 -0.009 0.073

(0.006) (0.007) (0.006) (0.344)

R2 0.11 0.19 0.25 0.25 0.25 0.29 0.28 0.03

# Observations 494 494 494 494 494 458 458 494

Heteroskedasticity robust std. error in parenthesis. Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%. (5) WLS. (6)

FGLS. Details in the main text. c̄g = 0.06. (1-7): dependent variable = c
g
ij . (8): dependent variable = 100 ∗ b

g
ij/c

g
ij , where b

g
ij is the

linear trend coefficient on the threshold.

2 Asymmetric Thresholds

In this section I outline how the empirical strategy differ when I assume that the thresholds for

the bands of inaction are asymmetric. Let cgij be the threshold of the band of inaction for shipping

good g from i to j. I estimate cgij by maximum likelihood using the following TAR model:

∆xgijt =


λg,outij (xgij t−1 − cgji) + eg,outijt if xgij t−1 > cgji

λg,inij xgij t−1 + eg,inijt if cgji ≥ xgij t−1 ≥ −cgij

λg,outij (xgij t−1 + cgij) + eg,outijt if − cgij > xgij t−1

(1)

where eg,outijt ∼ N(0, σg,out2ij ), eg,inijt ∼ N(0, σg,in2
ij ) and λg,inij = 0. The estimation algorithm is

identical to the baseline case, except that now we need to run a grid search for both cgji and cgij,

which makes the algorithm much slower.

Using the estimated bands of inaction, I run the following regression:

bgij = β0 + β1Euroij + β2τij + β3σ(sij) + β4Expendituresij + eg + εgij (2)

where bgij = (cgij + cgji)/2, and the other variables have the same interpretation as the baseline case.
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Column (1) in table 44 shows the results from the baseline regression. The coefficient on the

Euro dummy is negative and statistically significant and the magnitude of its coefficient, as well

those of other variables, are close to the baseline specification with symmetric thresholds. Results

are robust when I restrict the sample to countries belonging to the EU, Schengen Area or both.

Table 44: The Euro Shrunk the Band

(All) (EU) (Sch.) (EU+Sch.)

Euro -0.013*** -0.009*** -0.007*** -0.009***

(0.002) (0.002) (0.002) (0.002)

Log(Distance) 0.013*** 0.005*** 0.013*** 0.009***

(0.002) (0.002) (0.002) (0.002)

Common Border 0.014*** 0.001 0.009** 0.005*

(0.004) (0.003) (0.004) (0.003)

Common Language -0.006 -0.003 -0.000 -0.005*

(0.004) (0.004) (0.004) (0.003)

Island 0.026*** 0.017*** 0.016*** 0.000

(0.003) (0.002) (0.004) (0.003)

Landlocked -0.004 -0.001 -0.015*** -0.007***

(0.003) (0.002) (0.002) (0.002)

σ(sij) 0.143*** 0.068*** 0.313*** 0.137***

(0.016) (0.014) (0.020) (0.017)

Log(Expenditures) -0.002*** 0.001** -0.001 -0.001**

(0.001) (0.000) (0.001) (0.000)

R2 0.32 0.18 0.48 0.17

# Observations 9158 7182 5700 4389

Results from OLS of equation (2). Robust std. error in parenthesis.

Cluster: country pair. ***: significant at 99%, ** at 95%, * at 90%.

Product Fixed Effects. Sample: tradable four-digit COICOP goods.

3 Sample of three-digit COICOP goods

This section replicates the estimation procedure and the econometric analysis using of the paper

using more aggregated Harmonized Index of Consumer Prices. In particular I use data on 38

COICOP three-digit goods (20 of which are tradable). Table 45 provides the list of goods used.

I estimate the bands of inaction cgij for all goods and country pairs following the same algorithm

described in the paper. The average threshold of the bands of inaction is 6.3%. At the good level,

Household appliances have the lowest threshold (5%), while Tobacco have the higest(10%). Figure

1 shows the average threshold of the bands by good. Among country pairs in the EMU is 4.4%,

while among country pairs with different currencies is 7%. Figure 2 shows how a common currency

affects the average thresholds by good.

Table 46 shows the results from the baseline regression. Country pairs that share a common

currency exhibit thresholds of the bands of inaction that are 20% smaller than the average band. In

this case, the coefficient on Expenditures is negative but not significant, while the other variables

have similar coefficients to the main results shown in the paper. Table 47 shows the results from

restricting the sample to country pairs in the EU, Schengen Area or both. Table 48 shows the
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results from using the entry in the EMU by Cyprus, Malta, Slovakia and Slovenia. The coefficient

are similar to those estimated with the four-digit COICOP sample, although it loses significance

in the last specification.

Finally, table 49 presents the results with the unbalanced panel of goods. Table 50 shows the

effect of the euro on the autoregressive coefficient outside the band of inaction, the variance of

relative price and their change. Table 51 shows that the euro does not affect the bands of inaction

for non tradable goods. In table 52 I add to the baseline regression the volatility of prices and

their changes.

3.1 Goods and Country Details

Table 45: Tradable and Non Tradable three-digit COICOP

Tradable Non tradable

Code Description Code Description

CP011 Food CP041 Rentals

CP012 Non-alcoholic beverages CP043 Repair of dwelling

CP021 Alcoholic beverages CP044 Services to dwelling

CP022 Tobacco CP045 Electricity and gas

CP031 Clothing CP062 Out-patient services

CP032 Footwear CP063 Hospital

CP051 Furniture CP073 Transport Services

CP052 Household Textiles CP081 Postal Services

CP053 Household Appliances CP094 Cultural services

CP054 Glassware and tableware CP095 Books

CP055 Tools for house CP096 Package Holidays

CP056 Goods for household maintenance CP111 Catering Services

CP061 Medical products CP112 Accommodation services

CP071 Vehicles CP121 Personal Care

CP072 Transport Equipment CP124 Social Protection

CP082-083 Telephones CP125 Insurance

CP091 Audio-visual equipment CP126 Financial services

CP092 Durables for recreation CP127 Other services

CP093 Recreational items

CP123 Personal effects
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3.2 Descriptive Results

Figure 1: Average commodity point (100 ∗ cgij) by three-digit tradable COICOP good
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Figure 2: Average commodity point (100 ∗ cgij) by three-digit tradable COICOP good
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3.3 Regression Tables

Table 46: The Euro Shrunk the Band

(1) (2) (3) (4) (5)

Euro -0.030*** -0.031*** -0.015*** -0.015*** -0.013***

(0.003) (0.002) (0.002) (0.002) (0.002)

Log(Distance) 0.015*** 0.010*** 0.009*** 0.008***

(0.003) (0.002) (0.002) (0.002)

Common Border 0.014*** 0.010** 0.011*** 0.009**

(0.005) (0.004) (0.004) (0.004)

Common Language 0.000 -0.003 -0.003 -0.005

(0.004) (0.004) (0.004) (0.004)

Island 0.030*** 0.028*** 0.027*** 0.027***

(0.004) (0.003) (0.003) (0.003)

Landlocked 0.004 0.001 0.001 0.000

(0.003) (0.003) (0.003) (0.003)

σ(sij) 0.124*** 0.124*** 0.100***

(0.012) (0.012) (0.013)

Log(Expenditures) -0.001 -0.001

(0.001) (0.001)

European Union -0.015***

(0.004)

R2 0.12 0.23 0.31 0.31 0.32

# Observations 8928 8928 8928 8928 8928

Results from OLS. Robust std. error in parenthesis. Cluster: country pair. ***: significant

at 99%, ** at 95%, * at 90%. Product Fixed Effects. Sample: tradable three-digit COICOP

goods.
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Table 47: The Euro Shrunk the Band

(UE) (Sch.) (UE+Sch.) (UE+Sch.+Border)

Euro -0.010*** -0.007*** -0.007*** -0.014**

(0.002) (0.002) (0.002) (0.007)

Log(Distance) 0.003 0.011*** 0.008*** 0.004

(0.002) (0.002) (0.002) (0.004)

Common Border -0.001 0.009** 0.007

(0.004) (0.004) (0.004)

Common Language -0.002 0.000 -0.003 -0.004

(0.004) (0.003) (0.003) (0.007)

Island 0.020*** 0.005 -0.002

(0.003) (0.004) (0.003)

Landlocked 0.003 -0.010*** -0.005*** 0.003

(0.002) (0.002) (0.002) (0.004)

σ(sij) 0.095*** 0.295*** 0.202*** 0.209**

(0.018) (0.023) (0.020) (0.088)

Log(Expenditures) 0.002*** -0.001* -0.001* 0.001

(0.001) (0.001) (0.000) (0.001)

R2 0.18 0.46 0.20 0.34

# Observations 6804 5400 4158 540

Results from OLS. Robust std. error in parenthesis. Cluster: country pair. ***: significant

at 99%, ** at 95%, * at 90%. Product Fixed Effects. Sample: tradable three-digit COICOP

goods.

Table 48: The Euro Shrunk the Band

(1) (2) (3)

Euro -0.280** -0.280** -0.185

(0.120) (0.120) (0.158)

Good FE Yes Yes Yes

Country i FE No Yes Yes

Pair in EU and Schengen No No Yes

R2 0.04 0.11 0.12

# Observations 1761 1761 972

Results from OLS. Robust std. error in parenthesis. Cluster: coun-

try pair. ***: significant at 99%, ** at 95%, * at 90%. Product

and country switching fixed effects. Sample: tradable three-digit

COICOP goods.
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3.3.1 Robustness

Table 49: The Euro Shrunk the Band

(1) (2) (3) (4) (5)

Euro -0.029*** -0.030*** -0.014*** -0.014*** -0.011***

(0.003) (0.003) (0.002) (0.002) (0.002)

Log(Distance) 0.015*** 0.010*** 0.009*** 0.008***

(0.003) (0.002) (0.002) (0.002)

Common Border 0.015*** 0.011*** 0.011*** 0.010**

(0.005) (0.004) (0.004) (0.004)

Common Language -0.001 -0.005 -0.005 -0.007*

(0.004) (0.004) (0.004) (0.004)

Island 0.030*** 0.028*** 0.027*** 0.027***

(0.004) (0.003) (0.003) (0.003)

Landlocked 0.005* 0.002 0.001 0.001

(0.003) (0.003) (0.003) (0.003)

σ(sij) 0.129*** 0.129*** 0.107***

(0.012) (0.012) (0.013)

Log(Expenditures) -0.001* -0.001

(0.001) (0.001)

European Union -0.015***

(0.004)

R2 0.12 0.22 0.30 0.30 0.31

# Observations 9828 9828 9828 9828 9828

Results from OLS. Robust std. error in parenthesis. Cluster: country pair. ***: significant

at 99%, ** at 95%, * at 90%. Product Fixed Effects. Sample: tradable three-digit COICOP

goods. Unbalanced panel.
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Table 50: The Euro Shrunk other variables too

λg,outij σ(xgijt) σ(∆xgijt)

Euro -0.087*** -0.002*** 0.011

(0.012) (0.000) (0.009)

Log(Distance) -0.030*** 0.001*** 0.040***

(0.009) (0.000) (0.008)

Common Border -0.025 0.002*** 0.036**

(0.025) (0.000) (0.015)

Common Language -0.115*** -0.001** 0.014

(0.030) (0.001) (0.022)

Island 0.046*** 0.004*** 0.054***

(0.010) (0.000) (0.011)

Landlocked -0.015 -0.001* -0.023**

(0.011) (0.000) (0.010)

σ(sij) 0.220*** 0.022*** 0.361***

(0.045) (0.002) (0.045)

Log(Expenditures) 0.003* -0.000*** -0.012***

(0.002) (0.000) (0.002)

European Union 0.147*** -0.001*** -0.097***

(0.016) (0.000) (0.015)

R2 0.19 0.51 0.46

# Observations 8928 8928 8928

Results from OLS. Robust std. error in parenthesis. Cluster:

country pair. ***: significant at 99%, ** at 95%, * at 90%.

Product Fixed Effects. Sample: tradable three-digit COICOP

goods.
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Table 51: The Euro Did Not Shrink the
Band of Non-Tradable Goods

(All) (EU)

Euro 0.002 0.004

(0.003) (0.003)

Log(Distance) -0.001 -0.002

(0.003) (0.003)

Common Border -0.001 -0.003

(0.006) (0.007)

Common Language -0.015*** -0.017***

(0.005) (0.006)

Island 0.018*** 0.020***

(0.004) (0.004)

Landlocked 0.006 0.008**

(0.003) (0.004)

σ(sij) 0.125*** 0.140***

(0.014) (0.025)

Log(Expenditures) -0.002*** -0.001*

(0.001) (0.001)

European Union 0.001

(0.004)

R2 0.16 0.16

# Observations 4464 3402

Results from OLS. Robust std. error in parenthesis.

Cluster: country pair. ***: significant at 99%, **

at 95%, * at 90%. Product Fixed Effects. Sample:

non tradable three-digit COICOP goods.
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Table 52: The Euro Shrunk the Band

Tradable Non Tradable

(1) (2) (1) (2)

Euro -0.003** -0.013*** 0.004 0.002

(0.001) (0.002) (0.002) (0.003)

Log(Distance) 0.003** 0.006*** -0.005*** -0.002

(0.001) (0.002) (0.002) (0.003)

Common Border 0.003 0.008** -0.009** -0.003

(0.003) (0.004) (0.005) (0.006)

Common Language -0.000 -0.006 -0.004 -0.014***

(0.003) (0.004) (0.004) (0.005)

Island 0.009*** 0.025*** -0.003 0.014***

(0.002) (0.003) (0.003) (0.004)

Landlocked 0.003* 0.001 0.004 0.008**

(0.002) (0.003) (0.003) (0.004)

σ(sij) 0.008 0.088*** -0.006 0.098***

(0.008) (0.012) (0.011) (0.013)

Log(Expenditures) 0.000 -0.000 0.001** -0.001

(0.000) (0.001) (0.001) (0.001)

European Union -0.009*** -0.012*** 0.004 0.006

(0.002) (0.003) (0.003) (0.004)

σ(xgijt) 4.154*** 3.550***

(0.214) (0.171)

σ(∆xgijt) 3.435*** 6.028***

(0.590) (1.130)

R2 0.51 0.33 0.41 0.18

# Observations 8928 8928 4464 4464

Results from OLS. Robust std. error in parenthesis. Cluster: country pair. ***:

significant at 99%, ** at 95%, * at 90%. Product Fixed Effects. Sample: tradable

three-digit COICOP goods. Unbalanced panel.
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